


y

x
 

1

-1



y
x

1

-1

co
s

= xy



y
x

1

-1

co
s

= xy



y

x
1

-1

co
s

= xy



y

x
1

-1

+ 2co
s

= xy

т



y

x
1

-1

) – 34cos
(

π+= xy

т





y

x
 

1

-1

cosx =1+   

x=0

у



y

x
 

1

-1

cosx – 1 = x2 

x=0

у



y

x
1

-1

co
s

) +0,5 = π−(x 2 2
π−x

т



y

x
 

1

-1

cosx    1+   x=0



y

x
 

1

-1

cosx    1+   Ø



y

x
 

1

-1

cosx    1+   



y

x
 

1

-1

cosx    1+   
или



Умение строить графики нам нужны при …

✔  решении уравнений;

✔  решении неравенств;

✔  решении заданий, связанных с исследованием  
     свойств функций.


